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Differences in age, 1990

• % male older or same age (82%)
• % female older (18%)
• Average difference (Husband – wife) in 

age (2.69 years)
• 50% of married couples are within 2 years 

in age
• Average age difference on 1st marriage 

(roughly 2 years)
• Difference for 2nd marriage (4 years)
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% with Same education = 59.33
% Males >= education than spouse  = 18.23
% females >- education than spouse = 22.43
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% with Same education = 52.95
% Males >= education than spouse  = 21.99
% females >- education than spouse = 25.06
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Plot:  BMI of Husbands and Wives
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Fisman et al.

• Speed dating experiment
• Match women and men
• Record information about consistent 

patterns in their choice
• Answer two questions
• First:  what are characteristics m/f prefer?
• Second:  how selective are m/f?
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• Two major types of studies about mate 
selection

• Observe real world choices

• Survey people their preferences
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Speed dating experiment

• Columbia profession students
• 14 sessions over 2002-2004
• Pre-interview 
• Participants given slate of names they 

were to interview
• Asked to place weights on 6 

characteristics
– Attractive, Sincere, Intelligence, Fun, 

Ambition, Shared interests
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• 4 minute interviews, women sat at tables, 
men moved from table to table

• Rate potential candidates (1-10 scale) on 
the same 6 criteria listed above

• Indicate whether they would like to see the 
person again
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• Get zip of where you grew up == can 
match to Census data about wealth of 
neighborhood

• Also get SAT of your UG institution
• Strengths and weaknesses of the 

experimental design?
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Looks

• dProb(Decision)/d(Attractive) = dD/dA
• dD/dAm= 0.140  (each additional attractive 

point increases chance of saying yes by 
14 percentage points)

• dD/dAf = 0.119   (12 percentage points)
• 2.1 percentage point difference
• 18% difference 0.18 = (0.14-0.119)/0.119
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Intelligence

• dD/dIm = 0.023
• dD/dIf = 0.045
• Impact of a one-point movement in 

intelligence on decisions is 82% larger for 
females than males [(0.045-0.023)/0.023]
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Why men and women have 
different criteria?

• Evolutionary perspective

• Social structure theory


